KREMAN

CODING
-515006

LUooma.com

ASSEMBLY GUIDE

Read the instruction carefully. Remove all the wrapping
material, staples and straps from the carton. Refer to
the hardware and furniture part list for guidance. Be
sure that you have all the parts before you start
assembling. Place all the wooden furniture part on a
clean and flat soft surface, such as carpet or rubbermat
to prevent from scratches.

CAUTION

KEEP ALL THE PARTS OUT OF REACH OF CHILDREN.

ITEM PHOTO HARDWARE NAME QTY
@ ®3 D | Connecting bolt M6/45 6
% Connecting house @15x12 | 6
© | O | powel@8x30 12
@ ) I | Connecting screw @7/38 6
® Bolt M6x30 16
® @ﬁmma» Screw @4x35 12
© Opw | Adustabie foot 6
@ (g Screw @4x15 6
@ !“E) Bracket 3
@ % Allen key 4 mm 1
® Bolt M6x12 4
) (6)mm Bolt M6x15 1

1SO 9001:2015

Reg.No. 000435-1-MY-1-QMS




KREMAN

ASSEMBLY GUIDE

CODING
-515006

1SO 9001:2015

Reg.No. 000435-1-MY-1-QMS

LUooma.com

Read the instruction carefully. Remove all the wrapping
material, staples and straps from the carton. Refer to
the hardware and furniture part list for guidance. Be
sure that you have all the parts before you start
assembling. Place all the wooden furniture part on a
clean and flat soft surface, such as carpet or rubbermat
to prevent from scratches.

CAUTION
KEEP ALL THE PARTS OUT OF REACH OF CHILDREN.
ITEM PHOTO PARTS NAME QTY
@ e Top plate 1
ITEM PHOTO PARTS NAME QTY
@ —_— Bottom plate 1 Door 1
@ | ——==| shef 4 @ / Shelf support 10
@ | —— LG ! R f——= Left side frame 1
@ . Bottom plate small 1 @ — Middle frame 1
® SClEL ) ! — Right side frame 1
o
@ Middle plate 1 @ | —s__ Rail 8
— _
Right si 1
ight side \ Back support 2
| —
@ |i| Back plate 1 LU
g
2112 K%




KREMAN

CODING
-515006

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS

LUooma.com

E)x16
- ‘%

ong
O
312 K%




ASSEMBLY GUIDE

KREMAN

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS

CODING
-515006

LUooma.com

o

L
o)
C

4/12




ASSEMBLY GUIDE

KREMAN

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS

CODING
-515006

&
0
Q
o
&
0
0
D
-l

o

L
o)
C

5/12




KREMAN

CODING
-515006

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS




KREMAN

CODING
-515006

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS

4\}/\

ong
O
7112 K%




KREMAN

CODING
-515006

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS

LUooma.com

i
S
/
T
!/




KREMAN

CODING
-515006

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS

LUooma.com

ong
O
0/12 K%




KREMAN

CODING
-515006

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS

LUooma.com




KREMAN

CODING
-515006

1SO 9001:2015
Reg.No. 000435-1-MY-1-QMS

@

LUooma.com

[T
N\

I

\

IR

ong
O
1112 K%




KREMAN

CODING
-515006

1SO 9001:2015
Reg.No. 001

0435-1-MY-1-QMS

LUooma.com




